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I Continuation of discussion of napn n’aa In
a  Question ("wR "): does a MW &NV have to go through Mm% before beginning his proper mvm?
i Possible distinction: perhaps only applies to 801w 11 because he “defiled” his mm
ii  Suggested proof: our n1wnN —no NRMY 129p D> must shave
1 Rejection: perhaps no 117p is the result of the exemption from shaving
iii  Suggested proof: near equation of 1MW RnL to XRNVIVY P11 — only reckoning of 7™ day distinguishes them
1 Implication: they are the same vis-a-vis shaving
2 Rejection: perhaps they are the same vis-a-vis man, but distinguished re: shaving
(a) Block: if so, the ruling should include that distinction as well
(b) Answer: that's what 1> »»2w means — everything relating to the 7t day (reckoning and nnn)
iv  Suggested proof: discussion of the days of ny7¥ in mid-m71 counting (or not) towards mam
1 Argument:just as shaving after nknvIw M1 comes after days which don’t count, similarly with yoon "2
(a) Counter: after nkm, the prior days are nullified; not so with vion (if there are 30 days left for 71pw 5112))
2 Argument: if the hair of a 91w ®nv, which is fit for cutting, but those days don’t count —1"p to V15N "
(a) Implication: a 913w 8NV must cut his hair
(b) Rejection: refers to cutting it after he successfully completes mm (n7nv nnoin)
(i) Support (for rejection): V9N ' also have NRMY NNYn afterwards
(ii) Block (to support): reference is M1 nnn (Y7xn shaves after period of nkmv, but that’s y71xn Nnoin)
v Successful proof: v. 1 implies that only a Xnv1w 1 must shave, in spite of the 1”p that might be proposed
II  Revisiting the Xn»»1 quoted several times above — only distinction between 11w Xnv and ®pVIV 1 — counting 7t day
a  Authorship: »21 (contra nTn’ 72 °0v "1) — who interprets ®ynn oya (v. 2) as the day he brings his miaap
i Dissent: »"a11 — begins counting on Xynn 0y (meaning) — day he shaves (7 day)
ii ~ Arguments:
1 »27 verses states Y9y 7221 (i.e. n117p) and then XN nya — must be the day of maip (8t day)
2 7 that's why ®nn va, which is unnecessary, is used — to begin counting from 7" day
(a) 27 uses RN B2 to note that even if he didn’t bring the nna1p, the day counts for him
iii  related discussion: nywn (3:1 MN»2) - a 11 who has multiple nxmv brings one ja7p
1 ~707 37 must be »"a7, according to »17, he can never be liable for connected nx&mv while being in new period
(a) circumstance: he became Xnv on 7t day, and again on 7% day etc.
(i) observation: since XTon 17 doesn’t allow for it to be 727 (case where he became ®nv on 8 night) —
1. inference: he must assume that jnr 9010 XY N9 and he is already considered to be on 8% day
(if) block: either way the reasoning works:
1. if yor 70np 71575 then he never left the original period and it’s all one nrmv
2. if por 70100 N5 71525, then new M begins at night
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